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8. The points P and Q have coordinates (7, 4) and (9, 7) respectively.

(a)  Find an equation for the straight line / which passes through P and Q. Give your
answer in the form ax + by + ¢ =0, where a. b and ¢ are integers. “)

The straight line m has gradient 8 and passes through the origin, O.
(b)  Write down an equation for m. @
The lines / and m intersect at the point R.

(¢) Show that OP=OR. *)
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3. The straight line / has the equation x -5y =7.

The straight line m 1s perpendicular to / and passes through the point (-4, 1).

Find an equation for m in the form y =mx +c. 5)
4. Asequence of terms is defined by

u,=3"-2, n>1.
(a)  Write down the first four terms of the sequence. ?)

The same sequence can also be defined by the recurrence relation

Upsr=au,+b, n>21, uy=1,
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8. The straight line /; has gradient % and passes through the point 4 (5. 3).
(a)  Find an equation for /; in the form y =mx +c. ?)
The straight line /; has the equation 3x — 4y +3 =0 and intersects /; at the point B.
(b)  Find the coordinates of B. A3
(c¢)  Find the coordinates of the mid-point of 4B. ?)

(d)  Show that the straight line parallel to /, which passes through the mid-point
of AB also passes through the origin. “)
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10.

The straight line /; has equation 2x +y — 14 =0 and crosses the x-axis at the point 4.

(a)  Find the coordinates of 4.

The straight line /, 1s parallel to /; and passes through the point B (=6, 6).

(b)  Find an equation for /; in the form y =mx +c.

The line /; crosses the x-axis at the point C.

(¢)  Find the coordinates of C.

The point D lies on /; and is such that CD is perpendicular to /;.

(d)  Show that D has coordinates (3, 4).

(e)  Find the area of triangle ACD.
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